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1. A scale model of a car is 4 in. long. The actual car 2. A photo that is 8 in. wide and s in. high is
is 15 ft. long. What is the ratio of the length of the enlarged to a poster that is 2 ft. wide and 1L ft. 4_C 4 ab=cd are examples of proportions
model(f the length of the car? high. What is the ratio of the height of the photo b oa ¢TE pies oTprop

t9the height of the poster?
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4. Solve each proportion.
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Properties of Proportions
P P 3. Complete: If ﬁ = E , then i = i
% is equivalent to 4 b 12 a
1) ad= be ® b_4d
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5. Solve each extended proportion for x and y.
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How wide is the county on the map?

6. A map uses the scale 1 cm = 20 mi A county is 90 mi wide.
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7. If i = — , complete each of the following:
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